Find lim tanh x algebraically. SCORE: /4 PTS
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a . d
For this question, you may use the formulae for o sinh x and/or g cosh x without proving them. SCORE: /7 PTS
X X

If vou need to use the formula for the derivative of any other hyperbolic function, you must prove it.

d . .
[a] Without using the logarithmic formula for sinh”! X, prove the formula for d—slnh bx.
X

= sk X @
Shhy= x (D M\ﬁuﬁ L

-

Coshd 8t =1 O c@hj:m
__,J,_,_ f—]_—_ Suce cos‘a\ﬂ>o

Casl\\/J { W Forzm,z,j

1
O &,
».
[b] Without using the exponential formula for sech x, prove the formula for di sech x.
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_d tanh(x7) ; ;
Find E—z— . Simplify your final answer as a single fraction. SCORE: /4 PTS
X

You may use the derivatives of any hyperbolic or inverse hyperbolic functions from your textbook without proving them.
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If tanh x =~ 2, find sinh x .
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Prove the logarithmic formula for tanh ™' x given in your textbook. SCORE:

NOTE: This is NOT a question about derivatives.
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